CLASS - 1I
SUBJECT — GENERAL KNOWLEDGE

1. Match the columns and select the correct option,

Column 1 (Animals) Column 2 (Sounds)
(A) Cow 1. Roar

(B) Frog 2. Croak

(C) Lion 3. Coo

(D) Pigeon 4. Moo

A) a-1, b-2, c-3, d-4
B) a-4, b-2, c-1, d-3
C) a-4, b-3, c-2, d-1
D) a-3, b-2, c-4, d-1

2. Which of the following is the most spoken language in the world?
A) Japanese

B) Mandarin

C) Hindi

D) English

3. Who won Twenty 20 World cup 2016?
A) India

B) West Indies

C) Pakistan

D) Australia

4. What is the original name of Santa Claus?
A) Saint Nicholas

B) Saint Paul

C) Saint Kasha

D) Saint Marry

5. Which European city is called ‘the city of canals’?
A) Raipur

B) Venice

C) Nepal

D) Orissa

6. What is the full form of Al?
A) Artificial Intelligence

B) At List

C) Anni Louie

D) Artificial interrogation

7. Who is the captain of the Indian Cricket Team?
A) Rohit Sharma

B) Virat Kohli

C) Sanju Samson

D) Hardeep Singh

8. What type of chocolate reduces stress and improves heart health?
A) Dark Chocolate
B) Milk Chocolate



C) Been Chocolate
D) Crunch Chocolate

9. How often does a total solar eclipse occur?
A) Once every 18 months
B) Once every 17 months
C) Once every 15 months
D) Once every 19 months

10.Who proposed the idea of International Yoga Day?
A) Barack Obama

B) Narendra Modi

C) Angela Merkel

D) Ban Ki-moon

11.What is the primary component of yoga that focuses on breath control?
A) Asanas

B) Dhyana

C) Pranayama

D) Mantra

12.Which yoga pose is known as the ‘Tree Pose’?
A) Tadasana

B) Vrikshasana

C) Balasana

D) Shavasana

13.What is the focus of Hatha Yoga?

A) Postural alignment and breath control
B) Dynamic sequences

C) Chanting and sound vibrations

D) Generating heat and purifying the body

14.When any number is multiplied by 0, the answer is always?
A) Zero

B) Zerro

C) Zeroo

D) Zaro

15.A figure with four equal sides is called?
A) Square

B) Pentagon

C) Rectangle

D) Box

16.Which is the largest three-digit number?
A) 999

B) 1000

C) 000

D) 111

17.0ne kilogram equals how many grams?
A) 1000 grams



B) 10000 grams
C) 0.1000 grams
D) 1110 grams

18.What time it will be when the minute hand and hour hand both are at 12?7
A) 12 o’clock
B) 13 o’clock
C) 11 o’clock
D) 10 o’clock

19.Which is the largest 2-digit number?
A) 99

B) 100

C) 10

D) 11

20.Which is the smallest even number?
A) 2
B) 3
C) 4
D) 5

21.What is the place value of 9 in 1592?
A) Tens

B) Ones

C) Thousands

D) Zeros

22.55. We should always cross the road at the?
a. Zebra crossing

b. Road Crossing lime

c. Footpath

d. Footbridge

23. The red light of the traffic signal tells us to?
a. Go

b. Run
c. Stop
d. Come

24. The green light of the traffic signal tells us to?
a. Go

b. Run
c. Stop
d. Come

25.Which one of the following is the lowest part of a plant?
A) Flower

B) Leaves

C) Stem

D) Roots

E) None of these



26.A person who washes and irons our clothes is called
A) Cobbler

B) Washerman

C) Tailor

D) Plumber

E) None of these

27.0ur national flag is tri-colour, which one of the following colours is not the part of our national flag?
A) Black

B) Saffron

C) White

D) Green

E) None of these

28.Complete the following sentence with correct option: ?SBI is an abbreviated formof a _ 2.
A) Garden

B) Cinema Hall

C) Hotel

D) Bank

E) None of these

29.While worshiping we offer __ to god.
A) Flowers

B) Stone

C) Papers

D) Brick

E) None of these

30.0ut of given four options the sound of 3 animals is the same. Name the animal which has a different sound.

A) Giraffe

B) Goat

C) Sheep

D) Cat

E) None of these

31.The traffic sign given below represents which one of the following?
A) Stop

B) Horn

C) No horn

D) All of these

E) None of these

32.How rnany stumps are used in the game of cricket?
A) Eight

B) Five

C) Six

D) All of these

E) None of these

33.Which of the following is/are source(s) of food?
A) Plants

B) Animals

C) Brick



D) Both [a] & [b]
E) None of these

34.The animals that only feed on the flesh of other animals are called__ .
A) Herbivorous

B) Omnivorous

C) Carnivorous

D) AIll of these

E) None of these

35.A person whose profession is agriculture is called __.
A) Singer

B) Barber

C) Painter

D) Farmer

E) None of these

36.Name the Indian cricketer who is known as "Master Blaster".
A) Harbhajan Singh

B) Saurabh Ganguli

C) Rahul Dravid

D) Sachin Tendulkar

E) None of these

37.Which one of the following was known as the greatest showman in the Indian film industry?
A) Rajkumar

B) Raj Kapoor

C) Sunil Dutt

D) Amrish Puri

E) None of these

38.Full formof LICis _ .

A) Life Insurance Corporation
B) Life India Corporation

C) Life India Company

D) Life Insurance Company
E) None of these

39.Which one of the following sense organs helps us to hear?
A) Ears

B) Eyes

C) Skin

D) Tongue

E) None of these

40.Human beings breathe:
A) With the help of heart
B) With the help of lungs
C) With the help of Kidney
D) With the help of hand
E) None of these

41.The following statements are about the use of plants. You have to find out the wrong statement.



A) We get every food items from plants
B) We get some food items from plants
C) Parts of plants are used for decoration
D) Parts of plants are used for worship

E) None of these

42.A carpenter uses a ___ to cut wood.
A) Scissors

B) Saw

C) Knife

D) Hammer

E) None of these

43.Which one of the following is/are indoor game(s)?
A) Chess

B) Ludo

C) Carom

D) AIll of these

E) None of these

44.Given below are the statements about the Indian national flag. You have to pick the right one.
A) Indian national flag is colourless

B) Indian national flag has white colour at the top

C) Indian national flag is tri-colour

D) India has no national flag

E) None of these

45.Fill in the blank with correct option in the following sentence: "If we don't have eyes, we cannot "
A) See

B) Hear

C) Walk

D) Talk

E) None of these



